Intersection: S California Ave at E1 Camino Real, Palo Alto, California
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gov.usdot.asnl.generated.j2735.dsrc.Messageframe
value MessageFrame ::= ({
messageld 18,
value MapData : {
msglssueRevision 11,
layerType intersectionData,
intersections {
{
id {
region O,
id 1007
by
revision 0,
refPoint {
lat 374250763,
long -1221458652,
elevation 140
by
laneWidth 300,
speedLimits {
{
type vehicleMaxSpeed,

speed 559
}
by
laneSet {
{
lanelID 1,

ingressApproach 1,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverRightAllowed, maneuverRightTurnOnRedAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x 324,
y 1987
}
by
{

delta node-XY4 : {



x 1733,
y 2686
}
by
{

delta node-XY3 : {
x 763,
y 1130
}
by
{

delta node-XY2 : {
x 540,
y 282
}
}
b
connectsTo {
{
connectingLane {
lane 21,
maneuver {maneuverRightAllowed}
by
signalGroup 4
}
}
by
{
lanelID 2,
ingressApproach 1,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x 582,
y 1853
}
by
{

delta node-XY4 : {
x 1716,
y 2652
}
by
{
delta node-XY3 : {
x 1062,
y 1580
}
by
{

delta node-XY2 : {
x 740,
y 613
}
}
b
connectsTo {
{
connectingLane {
lane 16,
maneuver {maneuverStraightAllowed}
by
signalGroup 4



}y
{

connectingLane {
lane 1,
maneuver {maneuverStraightAllowed}

lanelID 3,
ingressApproach 1,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverLeftAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x 761,
y 1693
}
by
{

delta node-XY4 : {
x 1802,
y 2632
}
by
{

delta node-XY4 : {
x 1537,
y 2373
}
by
{

delta node-XY5 : {
x 3741,
y 5688
}
by
{

delta node-XY4 : {
x 2185,
y 3323
}
}
by
connectsTo {
{
connectingLane {
lane 12,
maneuver {maneuverLeftAllowed}
by
signalGroup 7
by
{

connectingLane {
lane 2,
maneuver {maneuverStraightAllowed}

}
}
b
{
lanelID 4,
egressApproach 2,



laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x 1325,
y 1342
}
by
{

delta node-XY4 : {
x 1600,
y 2767
}
by
{

delta node-XY3 : {
x 1056,
y 1751
}
by
{

delta node-XY5 : {
x 4129,
y 6326
}
by
{

delta node-XY4 : {
x 2257,
y 3373
}
}
b
connectsTo {
{
connectingLane {
lane 5,
maneuver {maneuverStraightAllowed}

}

}
by
{
lanelID 5,
egressApproach 2,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverRightAllowed},
nodelList nodes : {
{
delta node-XY6 : {
x 8110,
y 12186
}
by
{

delta node-XY2 : {
x 789,
y 429
}
by



delta node-XY4 : {
x 1718,
y 2747

laneID o,
ingressApproach 3,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed, maneuverRightAllowed,
maneuverRightTurnOnRedAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x 1690,
y 252
by
attributes {
data {
speedLimits : {
{
type vehicleMaxSpeed,
speed 782
}
}
by
dwidth 60
}
by
{

delta node-XY4 : {
x 3316,
y —2274
}
by
{

delta node-XY5 : {
x 3602,
y —-2309
}
by
{

delta node-XY4 : {
x 3223,
y -2150
}
by
{

delta node-XY5 : {
x 4160,
y -2736
}
}
I
connectsTo {
{
connectingLane {
lane 4,
maneuver {maneuverRightAllowed}
b
signalGroup 6
b



connectingLane {
lane 21,
maneuver {maneuverStraightAllowed}

by
signalGroup 6

lanelID 7,
ingressApproach 3,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x 1445,
y —-100
}
by
{

delta node-XY4 : {
x 3447,
y —2204
}
by
{

delta node-XY5 : {
x 3501,
y —-2301
}
by
{

delta node-XY4 : {
x 3273,
y -2239
}
by
{

delta node-XY5 : {
x 4174,
y —2748
}
}
b
connectsTo {
{
connectingLane {
lane 22,
maneuver {maneuverStraightAllowed}
by
signalGroup 6
}
}
by
{
lanelD 8,
ingressApproach 3,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b

maneuvers {maneuverStraightAllowed},



nodelList nodes : {
{
delta node-XY3 : {
x 1252,
y —-393
}
by
{

delta node-XY4 : {
x 3393,
y —-2189
}
by
{

delta node-XY5 : {
x 3480,
y —2284
}
by
{

delta node-XY4 : {
x 20064,
y —1431
}
by
{

delta node-XY5 : {
x 5458,
y —-3562
}
}
I
connectsTo {
{
connectingLane {
lane 23,
maneuver {maneuverStraightAllowed}
b
signalGroup 6
b
{

connectingLane {
lane 9,
maneuver {maneuverStraightAllowed}

lanelID 9,
ingressApproach 3,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverLeftAllowed, maneuverUTurnAllowed},
nodeList nodes : {
{
delta node-XY3 : {
x 1049,
y —-718
by
attributes {
dwidth -30
}
by
{

delta node-XY4 : {



x 3418,
y —2174
}
by
{

delta node-XY5 : {
x 4674,
y —-3010
}
I
{

delta node-XY3 : {
x 1048,
y —-395
}
}
by
connectsTo {
{
connectingLane {
lane 12,
maneuver {maneuverUTurnAllowed}
by
signalGroup 1
by
{

connectingLane {

lane 16,

maneuver {maneuverLeftAllowed}
by
signalGroup 1

}

laneID 10,
egressApproach 4,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x 196,
y —-1597
by
attributes {
dwidth 30
}
by
{

delta node-XY5 : {
x 3439,
y -2319
}
by
{

delta node-XY5 : {
x 3525,
y -2326
}
by
{

delta node-XY5 : {
x 3587,
y —2343



}
}y
{

delta node-XY5 : {
x 3964,
y —2638
}
}
b
connectsTo {
{
connectinglane {
lane 26,
maneuver {maneuverStraightAllowed}
by
remoteIntersection {
region O,
id 1008

laneID 11,
egressApproach 4,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x 440,
y -1363
}
by
{

delta node-XY4 : {
x 3388,
y —2265
}
by
{

delta node-XY4 : {
x 3336,
y —-2193
}
by
{

delta node-XY5 : {
x 3724,
y —2488
}
by
{

delta node-XY5 : {
x 4095,
y -2616
}
}
by
connectsTo {
{
connectingLane {
lane 27,
maneuver {maneuverStraightAllowed}
by



remotelIntersection {
region O,
id 1008

laneID 12,
egressApproach 4,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
X 666,
y —-1124
}
by
{

delta node-XY4 : {
x 3362,
y -2169
}
by
{

delta node-XY4 : {
x 3298,
y -2219
}
by
{

delta node-XY5 : {
x 3741,
y —2442
}
by
{

delta node-XY5 : {
x 4076,
y —2647
}
}
b
connectsTo {
{
connectinglane {
lane 28,
maneuver {maneuverStraightAllowed}
by
remoteIntersection {
region O,
id 1008
}
by
{

connectingLane {
lane 13,
maneuver {maneuverStraightAllowed}

}
}
}y
{

laneID 13,



egressApproach 4,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverUTurnAllowed},
nodelList nodes : {
{
delta node-XY6 : {
x 11067,
y —7954
by
attributes {
dwidth -30
}
by
{

delta node-XY3 : {
x 1050,
y —-246
}
by
{

delta node-XY4 : {
x 3268,
y —2145
}
}
by
connectsTo {
{
connectingLane {
lane 8,
maneuver {maneuverUTurnAllowed}

}
by
{
laneID 14,
ingressApproach 5,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed, maneuverRightAllowed,
maneuverRightTurnOnRedAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x —-908,
y -1866
by
attributes {
data {
speedLimits : {
{
type vehicleMaxSpeed,
speed 559
}
}
by
dwidth -30
}
by
{

delta node-XY4 : {



x —1493,
y —-2313
}
by
{

delta node-XY4 : {
x —-2165,
y —-3185
}
by
{

delta node-XY4 : {
x -1530,
y —-2268
}
by
{

delta node-XY6 : {
x -9871,
y —-14870
}
by
{

delta node-XY6 : {
x -5807,
y —-8759
}
}
by
connectsTo {
{
connectingLane {
lane 4,
maneuver {maneuverStraightAllowed}
by
signalGroup 8
by
{

connectingLane {
lane 15,
maneuver {maneuverStraightAllowed}
}
b
{
connectingLane {
lane 10,
maneuver {maneuverRightAllowed}
b
signalGroup 8
}

lanelID 15,
ingressApproach 5,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverLeftAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x -1168,
y —-1665
}
by
{



delta node-XY4 : {
x —1449,
y —-2259
}
by
{

delta node-XY4 : {
x -1788,
y —2742
}
by
{

delta node-XY2 : {
x -161,
y —698
}
}
by
connectsTo {
{
connectingLane {
lane 23,
maneuver {maneuverLeftAllowed}
by
signalGroup 3

}
by
{
lanelID 16,
egressApproach 6,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverStraightAllowed, maneuverRightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x -1411,
y —1547
}
by
{

delta node-XY4 : {
x -1524,
y —2322
}
by
{

delta node-XY4 : {
x -1477,
y —-2185
}
by
{

delta node-XY4 : {
x =-2063,
y —-3400
}
by
{
delta node-XY6 : {
x -9684,
y —-14843
}
by
{



delta node-XY6 : {

x -5821,
y —8648
}
}
}
b
{
laneID 17,

ingressApproach 7,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed, maneuverRightAllowed,
maneuverRightTurnOnRedAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x -1676,
y —403
by
attributes {
data {
speedLimits : {
{
type vehicleMaxSpeed,
speed 782
}
}
by
dwidth 60
}
by
{

delta node-XY4 : {
x -1983,
y 1308
}
by
{

delta node-XY3 : {
x -1318,
y 866
}
by
{

delta node-XY3 : {
x =906,
y 619
}
by
{
delta node-XY3 : {
x -1280,
y 873
}
}
by
connectsTo {
{
connectingLane {
lane 10,
maneuver {maneuverStraightAllowed}
by
signalGroup 2
by
{



connectingLane {

lane 16,

maneuver {maneuverRightAllowed}
b
signalGroup 2

}

laneID 18,
ingressApproach 7,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x -1500,
y —-99
}
by
{

delta node-XY4 : {
x -1874,
y 1239
}
by
{

delta node-XY3 : {
x —-1364,
y 912
}
by
{

delta node-XY3 : {
x —-854,
y 604
}
by
{

delta node-XY3 : {
x -1350,
y 929
}
}
b
connectsTo {
{
connectingLane {
lane 11,
maneuver {maneuverStraightAllowed}
by
signalGroup 2
}
}
by
{
laneID 19,
ingressApproach 7,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {



delta node-XY3 : {
x -1351,
y 219
}
by
{

delta node-XY4 : {
x =-1751,
y 1177
}
by
{

delta node-XY3 : {
x —-1534,
y 984
}
by
{

delta node-XY3 : {
x —-1486,
y 1068
}
by
{

delta node-XY2 : {
x =555,
y 403
}
}
I
connectsTo {
{
connectingLane {
lane 12,
maneuver {maneuverStraightAllowed}
b
signalGroup 2
b
{

connectingLane {
lane 20,
maneuver {maneuverStraightAllowed}

laneID 20,
ingressApproach 7,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverLeftAllowed, maneuverUTurnAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x -1213,
y 499
by
attributes {
dwidth -30
}
by
{

delta node-XY4 : {
x =-1767,



y 1198
}
}y
{

delta node-XY4 : {
x —-2635,
y 1759
}
by
{

delta node-XY1 : {
x =507,
y -8
}
}
by
connectsTo {
{
connectingLane {
lane 4,
maneuver {maneuverLeftAllowed}
by
signalGroup 5
by
{

connectingLane {
lane 23,
maneuver {maneuverUTurnAllowed}

b
signalGroup 5

laneID 21,
egressApproach 8,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x -618,
y 1599
by
attributes {
dwidth 30
}
by
{

delta node-XY4 : {
x -1867,
y 1279
}
by
{

delta node-XY3 : {
x =990,
y 709
}
}
by
connectsTo {
{
connectingLane {
lane 4,



maneuver {maneuverStraightAllowed}
by
remoteIntersection {

region O,

id 1006

lanelID 22,
egressApproach 8,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x =783,
y 1311
}
by
{

delta node-XY4 : {
x -1854,
y 1239
}
by
{

delta node-XY3 : {
x -1127,
y 762
}
}
b
connectsTo {
{
connectinglane {
lane 5,
maneuver {maneuverStraightAllowed}
by
remoteIntersection {
region O,
id 1006

laneID 23,
egressApproach 8,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x —-933,
y 1059
}
by
{

delta node-XY4 : {



x -1861,
y 1201
}
by
{

delta node-XY3 : {
x -1248,
y 840
}
}
b
connectsTo {
{
connectinglane {
lane o,
maneuver {maneuverStraightAllowed}
by
remoteIntersection {
region O,
id 1006

}
by
{
lanelID 24,
laneAttributes {
directionalUse {ingressPath, egressPath},
sharedWith {},
laneType crosswalk : {fixedCycleTime, audioSupport}
b
nodelList nodes : {
{
delta node-XY4 : {
x -142,
y 2070
by
attributes {
dwidth -30
}
by
{

delta node-XY3 : {
x 1032,
y —-699
}
by
{

delta node-XY3 : {
x 956,
y —-589
}
}
I
connectsTo {
{
connectingLane {
lane 25,
maneuver {maneuverRightAllowed}
b
signalGroup 14
b
{

connectingLane {
lane 27,
maneuver {maneuverLeftAllowed}

b
signalGroup 14



}
by
{
laneID 25,
laneAttributes {
directionalUse {ingressPath, egressPath},
sharedWith {},
laneType crosswalk : {fixedCycleTime, audioSupport}
b
nodelList nodes : {
{
delta node-XY3 : {
x 1846,
y 782
}
by
{

delta node-XY3 : {
x =-1077,
y -1574
}
by
{

delta node-XY3 : {
x -1139,
y —-1282
}
}
by
connectsTo {
{
connectingLane {
lane 24,
maneuver {maneuverLeftAllowed}
by
signalGroup 16
by
{

connectingLane {

lane 26,

maneuver {maneuverRightAllowed}
b
signalGroup 16

}
}y
{

lanelID 26,
laneAttributes {
directionalUse {ingressPath, egressPath},
sharedWith {},
laneType crosswalk : {fixedCycleTime, audioSupport}
by
nodelList nodes : {
{
delta node-XY4 : {
x =370,
y —2074
}
by
{

delta node-XY3 : {
x —-1472,
y 942
}
}
by
connectsTo {

{



connectingLane {
lane 25,
maneuver {maneuverLeftAllowed}
b
signalGroup 10
by
{

connectingLane {
lane 27,
maneuver {maneuverRightAllowed}
by
signalGroup 10
}
}
by
{
laneID 27,
laneAttributes {
directionalUse {ingressPath, egressPath},
sharedWith {},
laneType crosswalk : {fixedCycleTime, audioSupport}
b
nodeList nodes : {
{
delta node-XY4 : {
x -1842,
y -1132
}
by
{

delta node-XY3 : {
x 923,
y 1793
}
by
{

delta node-XY3 : {
x 177,
y 1409
}
}
I
connectsTo {
{
connectingLane {
lane 24,
maneuver {maneuverRightAllowed}
b
signalGroup 12
b
{

connectingLane {
lane 26,
maneuver {maneuverLeftAllowed}
by
signalGroup 12
}
}
by
{
lanelID 28,
laneAttributes {
directionalUse {ingressPath, egressPath},
sharedWith {},
laneType crosswalk : {}
by
nodelList nodes : {

{
delta node-XY5 : {



x 1903,
y 4948
}
by
{
delta node-XY3 : {
x 1353,
y —-929
}

}
by
{
lanelID 29,
laneAttributes {
directionalUse {ingressPath,
sharedWith {},
laneType crosswalk : {}
by
nodelList nodes : {
{
delta node-XY6 : {
X 6986,
y 12670
}
by
{
delta node-XY3 : {
x 1318,
y —-899

laneID 30,
laneAttributes {
directionalUse {ingressPath,
sharedWith {},
laneType crosswalk : {}
by
nodelList nodes : {
{
delta node-XY6 : {
x 9878,
y 16080
}
by
{
delta node-XY3 : {
x 1175,
y —-761

egressPath},

egressPath},



